UPS 25-120 180

MoHTaxHas anuHa: 180 mm
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LIMpKyNsSILMOHHBIE HACOCHI C «MOKPbIM» POTOPOM

p H
[kMa]q [m] ]
120 12 ——3=]
] E I~
100 10 _>2\ \\
80 8- \\
60 6 —31 \\ ™ _
] 1 \ \ \
40 -] 4 \\ \ \\ [N
- i v
20 2 \\ \\ > 2
i | L ~ 2 e
O - O T T T T T T T T ’; g
[T} =
00 05 10 15 20 25 30 QMM] § =
I T T T I T T T I T T T I T T T I T T T I T T g
0.0 0.2 04 06 0.8 Qn/c] &
AneKkTpuyeckue gaHHble TexHu4yeckme gaHHble
CropocTs P1 [B1] 1, [A] HanpsixeHue nutaHus: 1x230B, 50Ty
Temnepartypa
1 120 0.53 nepekayMBaemMon xuakoctu: ot -25 go +95 °C (TF 95)
2 180 0.78 [asneHne B cucteme: Makc. 10 6ap
3 235 1.02
Pa3mepbl [MM] L B1 B2 H1 H2 D1 D2 G [aronm]
UPS 25-120 180 180 82 69 32 130 - - 11/2”
UPS 25-125 180
MoHTaxHasa anuHa: 180 mm
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dnekTpuyeckue gaHHble TexHu4yeckme gaHHble
CropocTs P1 [BT] 1, [A] HanpsibkeHue nutaHus: 1x2308B, 50Ty
Temnepatypa
1 135 0.61 nepekadmsaemon xugkoctn: ot +2 go +60 °C (TF 60)
2 210 0.93 [aBneHve B cucteme: Makc. 10 6ap
3 270 1.18
Pasmepsbl [MM] L B1 B2 H1 H2 D1 D2 G [aronm]
UPS 25-125 180 180 82 69 32 130 - - 11/2”
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